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9983960 SBMBoErool 3Mmby: E

Addmmgo: cosk=—, smk= b r =acos(E —e)
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1996300l bymmgdo
53m3bLbsm s6(MR030 (BHEbL39IBE ™M) obEmegds: f(x)=0
5dmblbols 3b0dzbgermgsbo 3 fabo: 3 rules

|. graph the function

2. make a graph of the function

3. make sure that you have made
a graph of the function

dolgdzool dgommeo

Lodoeem 3603369 mdOL MgM©9ds
f(a) < k
f(b) > k £

i

f (X) 989390 B16J30ss, 85806 8cm0dgddgds a<E <b GHMmIgolmzgobsgs f(& )=k

1:(Xmin) <0, f(Xmax) >0,

|
!
. : "
f(Xmin) >0, f(Xmax) <O, - a. L. b

50m3sbs: 303mzmo Xy.
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30603900 6530%0 (0¢9M5305): 9359mfFdmm f(X) MFyz9&0 396J300L Bmemols sGLgd@dS (80,00) 0bEMmzsedo:
flag) flby) < 0.
f(X) 3mBdzool 0 3o0m (X=a0-b0) LobmLEoo.

LoBMLEHOL IMTsEGds TgbodergdgEs 0bGYMH35eol LEBW3MIOOL TgdE0MGIOM - 0FJMI(309d00:

(a1.51) D (as.bs) D (az. bs)

K-m60 0@9Ms3ool 9999 3960 06@ 90350005 (53mboblbols Loblid)g):
1;'. = (7(1;_.. /);..:l.

53mboblibs dosbermgdom dgodergds s300mm K 0@gMoz0ool 0bEgM35¢ol 9495 FoMEHowo:

my = 3((1,@ + by ).

omgzo f(my) = 0, 59mbsblbo bs3mgbos.

omgzo f(my) <e, Losg € LsddBo 58MBILLBEOL JoLoMYdO LOBYLEYS, 58MbILLEO 6533605 Fobolfs®
25bLOBOZOMWO LosFoOHm LoBMLEHOm.

Lbgs 99dmbggzsdo 99a30dw0s Bo35EMM 89900920 03 JMOEO0S ...
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(k+1) o@g5300L5030L 0bE MZs¢ol gMRg30L Fqbo: |
i1 = (agyq. by | 1)
(k+1) 069635000 Lsbz®gdO:
._ (. b)), if fmg)flag) > 0:
(agi1.0k41) = - \ O
(ap.my). if f(mg)fla;) < 0.
d0L9J300m doymxrols 999y 30MBJ300 0bEFJMZoEL LHOE WM IS0HYOME0s 93bd300l Bmero:
flagir) flbrsa) < 0
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BmLEGHO 59Mboblbo: X=«a
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03630000 5dmbsblibo: X =m,
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BGobsbfo goBlsb@gdrmo bobebiey: O log, ((b—a)/d)
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3995 H90GH00ob sm3eol dgomMmo:

br — ar
my = ag A
2
0585qP000:
303Mm3Mmm 53169 300L byergdo:
(x/2)* —sinx = 0 fa = f(a):
while b —a >4
m=a+(b—a)/2
fm = f(m):
39bol 0GHIMOE0ME0 Fodxmdgligds: if Fm - fa <0
b=m:
no ay s 1y,
else
1 1.8 2 1.9 a=m: fa= fm:
2 19 2 1.95 end:
5 1.9 1.95 1.925 end:
1+ 1.925 1.95 1.9375 root = a+ (b— a)/2;
5 1.925 1.9375 1.93125

4 1.93126 1.9375 1.93375 299030
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6 Lsxgbmmgzs6o dolgdool dgommeo
(960»Bg 9¢0 Jmbsermobgwo g3gligo)

1. Hunting stage

2. Iterative stage
2394330 5 0859by
1. BooM@dol doyxo:
8935MBomm doX 0, HMBgOo5 2903399900 dmbsHBOGOIB0ED MO Bqlgl Fmol dsbdow by Bs3egdos: d
fla+d), fla+2d). fla+4d).....
503M3560bMm0 06¢)9M135¢0gd0 Lo 08YMmz3gd06 B3gliggdo:

fla)fla + 2*d) < 0.

©53085bLM3gM9m §qlgndoL 3mbogogdo: K.

2. bGObIME Mo dolgd00L F90MPO YM39ger BUZ3MOD sbeEMU;
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dolgdaool 3gomol m30L9dgd0

+ 39056306900 30905 MOS oM 03 39L3DY;
+ 36090500Md0L dmboermbyero ¢9d30;
+ Hobsbffo® goblsBEZMMo LOBMUEHOL SOLYGOIMD;

- 295635 MdS 30 gdbBY;

- %9650 69900 (356:3Mbomo BmbdiE0s, 300b®mwo i3bdsos);
- LYFOMMS 0bEIMZoeols T9dMY356s (2o (36MdS);

- Y30woBY bgro 0300 390mEo;
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Q©535¢ngds 2.1.
0990099 3963)™ 90930l 13913900 FMMegLYOI0s 0bE M35 do (0,1.6). 03m39m B9L3gd0 dolgdiEool dgmmeol
25904969000 107 %9 39¢0 LODBMLEHO.

x cos(z) = In(x) (1)
2z = exp(—=x) (2)
exp(—2z)=1—=x (3)

Q535¢ngds 2.2.
030390 999930 B3bdi00lL bmengdo:

4smzr+1—x=0 (

l—z—e 2 =0 (

(1+z)e" 1—-1=0 (¢
z? —423 4222 -8 =0 (

e+l +x=0 (

322 + tg(z) =0 (

@©535¢0gds 2.3.

d0L9gJ3ool gm0 0bEFHGMZ9wOL gogmBol FoMEHOWO© SMH0MIGEBH03ME0 LSFMSWML 5©9ds LBoTSEGdls
0dg3s dmbEgl  sdLMEEHMOHO  (30MI0wgdol  obodoBgds.  0BEHYMZoOlL  goymeBolLl  gm3gEHMmOIo

B3l gs8mygbgdoo (ab>0) begds gsGEMdOmO 3MmBowgdol 8obodoBYRs. 50MBogm 2.1. ©359dOL
59096039 4563MEgds S F990MJ0 06EIMZoeol ogmaol gb Mo dgmmeo:
br — ax

mp = ap + - my = \/ a.by



